In the 1500s the Aztec Empire in Central America was conquered by soldiers led by which Spanish Leader?
a. O Francisco Pizzaro

b O Christopher Columbus
C. () Hernan Cortes
d ) Montezuma II

The European colonization of Australia had what effect on the Indigenous people of Australia?

a. O trade flourished in Australia

b O the introduction of the Islamic religion changed local religious practices

c. O the population decreased due to infectious diseases brought to Australia by the Europeans
d O the population was destroyed due to civil war

What is one of the main reasons for the formation of the European Union?
a O increased tariffs

b () common currency

c. () spread of European culture

d

O freedom of religion

Which country modeled it government after the government of United Kingdom?

a. ) France

b. O United States
C. () Australia
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Which dance originated in Brazil?

a. ) mambo
b. ) samba
C. O waltz

d. © meringue

Which of the following describes Australia's economic system?

a O mixed

b. ) command
c O planned
d () traditional

What was the main reason for the establishment of the thirteen colonies in North America by Great Britain?
a ) to obtain world dominance

b O to gain a source of raw materials

c. () to block Spanish claims to American land

d O to block French power in the New World
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a. O South Africans
b O New Zealanders
c. O Australian Aborigines
d

() Native Americans



